@j—' : ® E) LINEA CENTER TREATMENT CONSOLE

ALCTC 05A Install - Cover Page
Cover Page I
Unpacking I-0
Utilities Location I-1
Utility Access 1-2
Toe Kicks I-3
Achorbolt Layout Full Scale I-3t
Rear Base Cabinet I-4
Lower Support Structure I-5
Upper Bi-Fold Cabinet I-6
Upper Support Structure I-7
Front Sink Base I-9
Countertop & Hardware I-10
Upper Mid Cabinet I-11
Upper Front Cabinet I-12
Final Assembly I-15

NOVA Solutions Inc. 217-342-7070 sales@novasolutionsinc.com

3/7/2025 1:03:29 AM



@j’:'i) LINEA CENTER TREATMENT CONSOLE

ALCTC 0O5A Install - Unpacking
SL
A - Packing List
Mark Description ‘ Qty
Cabinet
UM TF |Front Toe Kick 1
] TR |Rear Toe Kick
/E Cabinetry
BC |Bi-Fold Cabinet 1
BF |Base Front Cabinet 1
AN BR |Base Rear Cabinet 1
SL |Lower Support Structure 1
~_[su SU |Upper Support Structure 1
UF |Upper Cabinet 1
UM |Upper Mid Cabinet 1
SL W |Work Surface 1
L Hardware
| _—BR #10-24 X 1 1/2" Self Drilling Screw 30
Sex/Sleeve Bolt 18
TR F  |Faucet 1
P |Door/Drawer Pull 19
BF STS |Self Tapping Screw 8
TA |Wedge Anchor Bolts 16
TF = Other
A |Tube of Caulk 1
B |Strainer 1
D |Soap Dispenser 1
S |Sink 1

Skid A contains: Both Front & Rear Base Cabinets, Toe Kick
Package Assemblies, Solid Surface Top Paclkage

Skid B contains: Front Section w/ Dispenser Upper Cabinet,
Pass Through Bi-Fold Cabinet, Center Structural Support
Package

1. Remove all packing material.

2. REMOVE HARDWARE PACK FROM SINK BASE ON SKID A.

SKID B SKID A

NOVA Solutions Inc. 217-342-7070 sales@novasolutionsinc.com

3/7/2025 1:03:29 AM



Qeirled

LINEA

CENTER TREATMENT CONSOLE

ALCTC O5A

NOVA Solutions Inc.

217-342-7070

sales@novasolutionsinc.com

Install - Utilities Location

Plumbing Utilities -by others-

Mark Description Qty
H  |Hot Water Supply 1
C |Cold Water Supply 1
D |Sanitary DWV 1

3/7/2025 1:03:29 AM



@b:'i) LINEA CENTER TREATMENT CONSOLE

ALCTC 0O5A Install - Utility Access

Plumbing Access
outline @ floor level

NOVA Solutions Inc. 217-342-7070 sales@novasolutionsinc.com

3/7/2025 1:03:30 AM



@j_' : .E> LINEA CENTER TREATMENT CONSOLE

ALCTC 05A Install - Toe Kicks

INSTALL TOE KICK ASSEMBLIES

1. Using Template Drawing I-3t, Drill anchor bolt holes (3/8"
dia x 2" min) into floor as the designated locations (shown in
BLUE).

Note: Toe kick leveling glides can be adjusted (top-down
access) with flat head or 7/32 socket. ALL LEVELING GLIDES
ARE PRE-INSTALLED ON TOE KICKS

2. Place anchors through toe kick into drilled holes for all toe
kick sections. [Detail A]

Note: Do not secure anchors to allow movement until final
assembly/leveling is completed

TR

NOVA Solutions Inc. 217-342-7070 sales@novasolutionsinc.com

50901314
BOLT, WEDGE ANCHOR 3/8" X 5-1/2"

Rear Toe Kick

TF | Front Toe Kick

3/7/2025 1:03:30 AM



@j_' : .E> LINEA CENTER TREATMENT CONSOLE

ALCTC 05A Install - Rear Base Cabinet

INSTALL REAR BASE CABINET

1. REMOVE ALL DOORS & DRAWERS.
DOORS/DRAWERS ARE MATCHING/COORDINATED SETS. KEEP TRACK OF
WHERE EACH WAS REMOVED. DOORS & DRAWERS MUST BE REINSTALLED
IN SAME CONFIGURATION AT END OF ASSEMBLY.

2. PLACE REAR BASE CABINET ON TOE KICK AS SHOWN AND ATTACH WITH #10-24 X
1 1/2" SELF DRILLING SCREWS. [DETAIL CTK]

BR | Base Rear Cabinet

31844
Screw, #10x 24 x 1 1/2" SS

NOVA Solutions Inc. 217-342-7070 sales@novasolutionsinc.com

3/7/2025 1:03:30 AM



@j_' : .E> LINEA CENTER TREATMENT CONSOLE

ALCTC O5A Install - Lower Support Structure

INSTALL LOWER SUPPORT STRUCTURE
1. Place lower center support structure.

2. Remove panels and attach to rear base cabinet with
sex/sleeve bolt set (4) [DETAIL SSB]

022.45.154
Screw, Sex Bolt M4x15mm Zinc

267.01.717 SL | Lower Support Structure
Nut Connector Sex Bolt Sleeve

NOVA Solutions Inc. 217-342-7070 sales@novasolutionsinc.com

3/7/2025 1:03:30 AM



@j—"m LINEA

CENTER TREATMENT CONSOLE

ALCTC O5A

Remove support pieces after final
mounting of cabinet to upper
center support in next step.

- False bottom

NOVA Solutions Inc. 217-342-7070

Install - Upper Bi-Fold Cabinet

INSTALL BI-FOLD CABINET

1. Remove False bottom (4 screws).
2. Place on top or rear base cabinet.

3. Attach to center structural support with (6)
Sex/sleeve bolts. [DETAIL SSB]

4. Use screws from false bottom and screw upper cab
to base cab.

sales@novasolutionsinc.com

/ BC | Bi-Fold Cabinet

022.45.154
Screw, Sex Bolt M4x15mm Zinc

267.01.717
Nut Connector Sex Bolt Sleeve

3/7/2025 1:03:30 AM



@j_' : .E> LINEA CENTER TREATMENT CONSOLE

Install - Upper Support Structure

ALCTC O5A

INSTALL UPPER SUPPORT STRUCTURE

1. Remove side panels and place upper center
support structure onto lower center support

structure.

2. Attach upper center support structure to Bifold
Upper cabinet with (4) sex/sleeve bolts
[DETAIL SSB]

3. Attach upper center support to lower

D E—— _
centersupport w/ (8) self-tapping screws

[DETAIL B]

022.45.154
Screw, Sex Bolt M4x15mm Zinc

1 Ul 267.01.717
| Nut Connector Sex Bolt Sleeve

|
| /J‘ i N :
Ir V

11544494-A
Screw, #10-16 x 5/8", HWH, Zinc

S
C 4 4 A NS A ; ) e g -3 - T
L ) SO 050 T wa
- PR R VR
< a

217-342-7070 sales@novasolutionsinc.com
3/7/2025 1:03:30 AM

NOVA Solutions Inc.



@j_' : .E> LINEA CENTER TREATMENT CONSOLE

ALCTC 05A Install - Front Sink Base

INSTALL FRONT SINK BASE CABINET

1. REMOVE ALL DOORS & DRAWERS.

DOORS/DRAWERS ARE MATCHING/COORDINATED
SETS. KEEP TRACK OF WHERE EACH WAS REMOVED.

DOORS & DRAWERS MUST BE REINSTALLED IN SAME
CONFIGURATION AT END OF ASSEMBLY.

2. Remove false bottom

3. Place front sink base cabinet on toe kick as shown and attach
with #10-24 X 1 1/2" self drilling screws. [DETAIL CTK]

\ 4, Attach to center structural support with (4) sex/sleeve bolts.
\ % [DETAIL SSB]

022.45.154
Screw, Sex Bolt M4x15mm Zinc

267.01.717
Nut Connector Sex Bolt Sleeve

31844
Screw, #10x 24 x 1 1/2"SS

I BF | Base Front Cabinet

NOVA Solutions Inc. 217-342-7070 sales@novasolutionsinc.com

3/7/2025 1:03:30 AM



@b:‘i) LINEA CENTER TREATMENT CONSOLE

ALCTC O5A Install - Countertop & Hardware

0146980 INSTALL COUNTERTOP TO SINK BASE CABINET
Screw, 1/4-20 x 1/4" PH
50901147 1. Install Sink, Faucet, Strainer, & Soap Dispenser.

CLIP, 732-G **Apply provided silicone to the sink prior to installing**
E?J?lﬁ/l‘}_zo (F1-SB30) 2. Place Countertop on sink base cabinet.

GLUED TO TOP **Apply provided silicone to secure work surface to base
cabinet**

**NOTE: FINAL PLUMBING CONNECTIONS BY
OTHERS**

2030426
SILICONE
SEALANT, CLEAR

F | Faucet
W | Work Surface # D | Soap Dispenser
/

Sink

B | Strainer

NOVA Solutions Inc. 217-342-7070 sales@novasolutionsinc.com

3/7/2025 1:03:30 AM



@j_' : .E> LINEA CENTER TREATMENT CONSOLE

ALCTC 05A Install - Upper Mid Cabinet

INSTALL UPPER MID CABINET
1. Place front upper mid cabinet on top of work surface

2. Attach to center structural support with (4) sex/sleeve
bolts [DETAIL SSB]

/ UM | Upper Mid Cabinet

L_| 022.45.154
Screw, Sex Bolt M4x15mm Zinc

N 267.01.717
\ Nut Connector Sex Bolt Sleeve

NOVA Solutions Inc. 217-342-7070 sales@novasolutionsinc.com

3/7/2025 1:03:30 AM



@j_' : .E> LINEA CENTER TREATMENT CONSOLE

ALCTC 05A Install - Upper Front Cabinet

INSTALL UPPER FRONT CABINET

1. Place front upper front cabinet against upper mid
cabinet.

2. Attach to center structural support with (4) sex/sleeve
bolts. [DETAIL SSB]

022.45.154
Screw, Sex Bolt M4x15mm Zinc

267.01.717
Nut Connector Sex Bolt Sleeve

A
- .

NOVA Solutions Inc. 217-342-7070 sales@novasolutionsinc.com

3/7/2025 1:03:30 AM



@j_' : .E> LINEA CENTER TREATMENT CONSOLE

ALCTC 0O5A Install - Final Assembly

**NOTE: FINAL ELECTRICAL & PLUMBING CONNECTIONS BY
OTHERS**

1. REINSTALL DOORS/DRAWERS IN ORIGINAL POSITIONS
FROM WHERE THEY WERE REMOVED.

2. Attach Door/Drawer Pulls and remaining components as needed.
3. ADJUST TOE-KICK LEVELERS AND TIGHTEN ANCHOR NUTS.

4. CHECK FOR ALIGNMENT OF DOORS & DRAWERS, FINAL
ADJUSTMENTS MAY BE NECCESSARY.

NOVA Solutions Inc. 217-342-7070 sales@novasolutionsinc.com

3/7/2025 1:03:31 AM



	I - Cover Page
	I-0 - Unpacking
	I-1 - Utilities Location
	I-2 - Utility Access
	I-3 - Toe Kicks
	I-4 - Rear Base Cabinet
	I-5 - Lower Support Structure
	I-6 - Upper Bi-Fold Cabinet
	I-7 - Upper Support Structure
	I-9 - Front Sink Base
	I-10 - Countertop & Hardware
	I-11 - Upper Mid Cabinet
	I-12 - Upper Front Cabinet
	I-15 - Final Assembly

